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The first year he is not annoyed, etc. — 99127 7ODP R Rn1Rp RNW

OVERVIEW'

It seems from our X723 that only PXynw> " derives npin from 7¥1m0 W, MOOIN
argues that the reasoning of °"7 and the 1127 are similar. The 7127 should also be
able to derive 2w A NP from MW 7Y,

nooIN asks:
-39 N9 19990 MIUN ‘1’5’ NPT HNYNYI /91 15 N zmm

It is astounding! [If it is indeed so that the reason a npi1 requires three years, is
because that by the third year we are certain that a person takes offense and would
have been fim», then] how do we know that it is only >''2 who derives 2°1v '3 NI

from 7vv277 "2 but not the 3329, Perhaps -
— T390 NYN 299 181 903 1NN

The 7127 too can derive V"1 from 7y W -
— TN MUM N1 29957 5133 K1YV 139901

for this reason that X217 is giving according to the 7127, was also previously given

according to "1 who derives ¥"37 from 727 MW -
— 19 730 IN D99 ONTY 12 ON NN XYY PPt /)3 19941 11997

that since a person is offended by someone eating his produce three times and

(yet) he did not protest, then certainly he sold it or gave it to him; otherwise he
would have protested since it occurred three times already. This same thought is being now
voiced by X237 according to the 7127. Why can they not derive it from 7v17 W as well?

Mo0IN answers:
- INN VYN 099D SN AW MIIN N2 DITRT INYNIY? 397 INTIT MIT NDT 91010 UM

And one can say; that >"7 and the 7127 are not comparable; for that is certain
that according to %' we can derive "1 from 717 7w since he takes note of
the consumption of the produce; and is not necessarily concerned with the amount

of time required for a 7217 he can properly derive from Y17 MW the laws of mpm,

in the following manner -
— 19971 NNV NI9NY XY DX MION WHYA IND N DY /)2 JNN) PIND 0NN NNY

for just as there by " 7vwn, the ox is established as a goring ox by goring

" See “Thinking it over’ # 1 (and ‘Appendix’).
* The 127 nix7 amends this to read X2 12 88 72°N
3 See A" X,72 '01n and ('R77) ®OR 7"'7 2,10 'oin.
1

TosfosInEnglish.com



XNw 7"7 "0 K,002"1 .7"02

three times, here too by 7711 through three consumptions he is considered a

P1mn; because if not for the fact that he sold it to him he would take offense and

certainly protest.
— )27 MHNWA 0NHN NN NT PN

And neither 7¥1277 7Y nor P11 are dependent on any elapsed time frame; the mpin
are established through incidents, not elapsed time frames. Therefore it is a proper comparison.

STINN MU MY 7Y KY 1999 NNYS NN 1At MW MHNT 13399 Yax
However according to the 7127 that a 7217 is dependent on elapsed time; that it is
necessary to establish how much time must elapse until he is offended,
therefore it is not possible to derive "7 from 77 W,

SUMMARY

We can derive ypp npin from 73127 MW, only if the 7P is dependent on recurring
incidents, similar to 797 M. If the 72117 is dependent on elapsed time it cannot be
derived from 7917 V.

THINKING IT OVER"

1. How are we to understand nmoon question, when the X1m3 just stated’ that the
0°non cannot derive w"in from ¥ W, since the o°non disagree with MoK 'a;
which is seemingly the same answer that mao1n gives!®

2. How does moon indeed know that X271 is not incorporating the 7% from MW
777 in his answer?’

3. What advantage would there be if the a°»on do derive w"1 from 707 MM ?°
4. Why did not m»on asks this question on the first answer of 837?°

5. It would seem more appropriate that the 7"7 of moown should be "1°5p non', as
opposed to 121 Top X2 xn»np xnw!'’

* See ‘Appendix’.

3 a,mo.

® See footnote # 16.
7 See footnote # 14.
¥ See footnote # 19.
? See footnote # 20.
10 See footnote # 17.
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APPENDIX"'

The &3 inquired as to the source of 2°1w '3 np1. We will assume that the question
1s that a 7P should be immediately when the original owner (w7yn) becomes
aware that someone (the p°117) 1s using his property, and remains silent (?Pmw). The
X3 answers that we derive it from 79127 MW, By a MW even if he gores twice he is
considered a an. Seemingly, since he gored (even once) he is no longer a an; he is
a goring ox. Nevertheless the 77710 teaches us that to change the status from a an to
a T it requires that the M act like a 7 three times.'? Similarly in order to
change the ypap npin from the vy to the P17 it requires three acts of np’nW.B

The X n3 stated that if this is the source of 7pin, then if the P 1nn ate three NM17°oK
and the 7y7vn was silent all three times it should be a 7P, regardless if it was
three years (similar to 7¥77 7w, where there is no time limit, only three incidents
are required to establish a 7p1T). The X3 concluded that this is indeed so;
according to PXynw° " three m>°OK are sufficient to establish a npim.

The X mx asks that according to the 2°non who maintain that three m?°X are
insufficient, but rather three years are required, from where do they derive w"am.
The X3 understood that since three M17°2X are not sufficient to establish a mpm,
that indicates that a 711 cannot be established by merely three incidents, but rather
a (single) long period of three years (almost eleven hundred days) are required to
establish this 7P, The question remains; why is such a long period of time (eleven
hundred days) required to establish this 7pm? It should be established as soon as
the 2vyn 1s aware and is pnw.

X217 offered two explanation, initially. That for the first two years the v vn is
either willingly giving up his claim to the produce (perhaps giving it as a gift to the
P 1n) - 2°mn, or he is biding his time — 79 &?; he will protest later. However once
three years pass, we may safely assume that no one is willing to donate so much of
his produce, and no one is willing to wait such a long time to lodge a complaint.
Therefore after three years it is a 7pim.

" The ideas presented in this appendix are speculative and should be treated as such.

12 We will assume that the reason is irrelevant; this is what the 7m0 teaches us.

" An act of Ap>nw is, presumably, when the 7y v» should have protested but did not.
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There is a basic difference in understanding the 711 whether we derive it from
7V MW or whether we accept s'&27 ideas. If we derive it from 77 W, then the
npnw of the first (two) year(s) is not to be interpreted as a 77°mn of the M7 or
even not as a 79p &5.'* Rather it may be a sign of genuine 7p°n which perhaps
should transfer the 7211 to the P1n immediately. However we derive from 97
7w that two M°al, even though they indicate that he is a 1A MW, nevertheless they
cannot change the status of the 7. Similarly (even) two Mmpnw do not have the
power of transferring the 7P from the w7yn to the p in. Three Mpnw are
required just as N2l A are required.

However, according to ¥27, even one 7p°nw would make a 7pin. It 1s only that X237
claims that during the first two years we cannot be sure that there was a real 7P nw;
a tacit admission of a relinquishment of rights. Perhaps it was a 17%°nn; or perhaps
he was biding his time (7°9p X?). If however we would be sure that it is an authentic
Tpnw, as by the 2°w°9R 92 °a7, there is no doubt that it would be a npm
immediately, even with one np’nw.ls

There seems to be a difference between the two answers of X27; whether Xnw
"1 2 Xn»np or whether 21 1°9p K7 Xn»np XNW, when we view it retroactively
after the three years. If we assume that 21 Xn>»np Xnw, then even after the three
years, that assumption does not necessarily change. During the first two years it
still may have belonged to the 237v»; he was merely 2min the ms. It is only after
the third year, that the 7P is transferred to the 117, because a person would not
be %mn so much of his produce. The np°nw of (only) the third year is a genuine
npnw. However if we assume that 7°5p X% Xn»np Xnw; the 7v7v» may have been
biding his time; he was planning to protest at a future date, then after three years
pass, the assumption is no longer true. He never protested at all. That indicates that
he was p>nw right from the beginning. The 79p X% of the first two years wasn’t
merely a biding of time; it was an actual 7p°nw.

Once X271 gave his two answers that it depends on 121 Xn>»np Xnw and (Paw) non, it
seemed to MooIN that (even) according to the o2m the three years 7PN 1s not

' See “Thinking it over’” # 2.
15 If, however, we derive npm from 797 W, then even by the 2w %X 12 *27, three Mp°nw would be required to
establish a 1prm.
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merely a single (long) stretch of time, but rather the 711 can be broken down into
three (repetitive) segments, similar to 717 M. Therefore, even though the aon
maintain that three m>°2X alone are insufficient to establish a P (perhaps because
they are not as significant incidents as the n1°31 are by 7¥17 W), nevertheless
they can still maintain that 72717 is dependent on three repetitive yearly incidents.
This makes " similar to 7¥127 MWw. That 1s why n1vo1n felt justified asking his
question after 21 gave his answers.'®

mooin asks (only) on the second answer of X217 that 1°9p X2 Xn>np Xnw. Even X2
agrees that after three years have passed and he was not 71m71, we may assume that
he was (probably) a pmw all three years; not merely a 795p X>. Therefore msoIn
asks why does X217 say that he is 797 only on the third year, which is an arbitrary
estimation, forced on us by the 71wn, when we can simply say that he may be a
genuine pmw all three years (which is the natural assumption)'’ for a person is 7p
immediately, but we derive from 97 7w that there has to be a genuine 7P nW
three times, not less.'® The advantages of this interpretation are dual. The three
years are not arbitrary (but derived from ¥ 71?), and mainly that there would be
no question from the 2°%°9x 12 27."° The 7710 requires three (yearly) mp nw.

mooIn could not have posed this question (as strongly) on the answer of Xn»np Xnw
"5 9nn. According to that answer even after the three years passed there is no
proof that there was np°nw the first two years; he could have been 2% as an owner.
There may have been no fp°nw at all. It is not a 7PN comparable to Ty127 MW
where he is actually mi the first two times; acting as a full fledged Tvm.%
However according to the answer of 7°9p X, once three years passed that indicates
that he was not merely 7°5p X2, but actually pnmw.

mooIn answers that we cannot derive three segments of time establishing a AP
from 77 MW where three incidents, independent of time, create a 7. Therefore
we have to assume that he could not have been 75 immediately, otherwise the
711 would have been established right away.

' See “Thinking it over’ # 1.
' See “Thinking it over’ # 5.
'8 This may be the reason that mpoIn phrases his question: 771 XY Pa2°1 32 199p7 11°37" and not "x7 oyoa 1°9p7 1197
" See “Thinking it over’ # 3.
0 See “Thinking it over’ # 4.
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